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Question Number : 1 Question Id : 2549896561 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Files and folders deleted from the hard disk of a computer get stored temporarily in
Options :

1. # My Computer

2. ¥ Recycle Bin

3. %* Current Documents

4. % RAM

Question Number : 1 Question Id : 2549896561 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



HIR BI TTS o ¥ fSelle 31 T HEd 3R Wiy U™l U J Bl ©R g S 82
Options :

1. ¥ Ag HYI (My Computer)

2. ¢ JITHd faq (Recycle Bin)

3. % W@‘Tﬂﬂﬁ?ﬂ (Current Documents)

4. % RAM

Question Number : 2 Question Id : 2549896929 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT contained in Uniform Resource Identifier?

Options :

1. ¥ Scheme

2. % Authority

3. ¥ Display

4. % Query

Question Number : 2 Question Id : 2549896929 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

frafaRed &  H-, Qﬁfq;\lﬁ IR ST STCHRR (Uniform Resource Identifier) & RMTHS g1 8

Options :

1. % W(Scheme)

2. % YIRS (Authority)
3. ¢ f&& (Display)

4. % P (Query)

Question Number : 3 Question Id : 2549896951 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A computer works on a/an number system.

Options :



1. ¥ binary
2. % octal
3. # decimal

4. ®* hexadecimal

Question Number : 3 Question Id : 2549896951 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Uh EI'TCEET Udh T YuTTett (number system) UX hTH hdl % |
Options :

I IER R (binary)

2. % 3figed (octal)

3. % SRHd (decimal)

4. % SRITSFAHT (hexadecimal)

Question Number : 4 Question Id : 2549897538 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

What is the keyboard shortcut to move to the next suggestion with Automatic Word Completion in OpenOffice Writer 3?

Options :

1. % Tab

2. % Ctrl + Tab

3. % Ctrl + Alt + Tab

4. % Shift + Tab

Question Number : 4 Question Id : 2549897538 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

KSR jivops) RISCX 3 (OpenOffice Writer 3) ﬁ, AP a8 ST & 1Y 3T TR (suggestion) UX H & fo Plars Qcdhe o %?
Options :

1. # Tab

2. % Ctrl + Tab



3. % Ctrl + Alt+ Tab
4. % Shift + Tab

Question Number : 5 Question Id : 2549897612 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

DVD is an example of

Options :

1. ¥ an optical disk

2. % a magnetic disk

3. % a magnetic tape

4. ® a flash device

Question Number : 5 Question Id : 2549897612 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

dEt (VD) ' &1 T IaTeRUT Bl
Options :

1. ¢ 3PP &3k

2. % Dfews foxw

3. % Mfew U

4. % Taw fearzgw

Question Number : 6 Question Id : 2549898474 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following function of MS-Excel 2019 returns a reference to a range that is a specified number of rows and columns from a cell or range of
cells?

Options :

1. % OFFSET

2. # REFOFFSET
3. ¥ OFFSETREF



4. % OFFSETREFR

Question Number : 6 Question Id : 2549898474 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

MS-Excel 2019 &1 Fgfafaa & @ eF-ar thaR, Wﬁ WWWW%@W@HW%%W@W (rows) 3R Y (columns) G4l
Ue iy g g2

Options :

1. % OFFSET

2. % REFOFFSET

3. % OFFSETREF

4. ¥ OFFSETREFR

Question Number : 7 Question Id : 2549898897 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following device can be used as both input and output device?

Options :

1. #* Keyboard

2. % Touch Screen

3. % Plotter

4. % Speakers

Question Number : 7 Question Id : 2549898897 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

frafafed o @ fory fearsy &1 IuahT 3Ye SR 3i3eye f$argy iFl & =u H fardr ot Tahdl 82

Options :

1. % BEIS
2. ¥ T hIA
3. % Wi
4. % Tipd



Question Number : 8 Question Id : 2549899357 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Dot matrix is a type of a

Options :

1. * scanner

2. % keyboard

3. % mouse

4. % printer

Question Number : 8 Question Id : 2549899357 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

SlcAfteiud  BIUPRE!
Options :

1. % TR

2. % IS

3. % HI3Y

4. ¢ TR

Question Number : 9 Question Id : 25498922524 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Which of the following statements is/are true with reference to mail merge in MS-Word 365?

(1) You cannot add attachments while sending individual messages to each email address using mail merge.
(i1) You can include links while sending individual message to each email address using Mail merge.

Options :

1. # Only (i)

2. % Only (ii)

3. % Both (i) & (ii)

4. % Neither (i) nor (ii)



Question Number : 9 Question Id : 25498922524 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

MS-Word 365 H, Bd 7ol & e & fRgferiad & Q@ HH-918 $y= 94 8/8?

(i) 310 T Tl DT JUUNT HRPb YAD sHA TS TR SHTHT-3HTHT TS Vot T SITUD (attachments) TS ol HR Tbd gl
(ii) ST T TS BT ITUNT b YD SHA TS TR SHeT- 7T Bt Yo Gop forep et % Tl &

Options :

1. % &ad (i)

2. % 6Hdd (ii)

3. (i) 3R (ii) AT

4. % T (i) SR T (i)

Question Number : 10 Question Id : 25498929854 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a type of a barcode reader?
Options :

1. ¥ CCD scanner

2. % Omni-directional barcode scanner

3. % Pen wand

4. ¥ Inkjet reader

Question Number : 10 Question Id : 25498929854 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

fafeiad A O HH-91 TRBIS ISR 61 U6 USR 81 82
Options :

1. % CCD R
2. % MA-SRRGRAA IRBIS TR
3. % U998



4. ¥ FHoic AR

Question Number : 11 Question Id : 25498930070 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following domains is used to map an address to a name when a server request has received a request from a client to do a task?
Options :

1. % Domain Name System

2. # Network Topology

3. % Network Interface Card

4. % Uniform Resource Locator

Question Number : 11 Question Id : 25498930070 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

%aavémﬁwmcmgmmmmwmaawmﬁwamwﬁumﬁam@mmw
ST /2

Options :

1. ¢ S 1 ey

2. % Jegd erararst

3. % Jcddh Sy BIS

4. % gABH RO ddex

Question Number : 12 Question Id : 25498930304 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is an optical storage device that uses a laser to read and write to the disk using a red laser beam?

Options :

1. # Magnetic disk

2. CD

3. % Blu-ray disk

4. % Magnetic tape



Question Number : 12 Question Id : 25498930304 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

fofefad § @ o 91 te e d TRl fSagd g Sl drd Aok §iH BT IUTNT Hd (5% R U 3R e & ot doR &1 SUaNT odT 82

Options :

1. % Tifew fewwm
2. ¢ YISl (CD)

3. % N fewn
4. % Mfew ey

Question Number : 13 Question Id : 25498930892 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Drum and flatbed are types of

Options :

1. #* readers

2. # scanners

3. # printers

4. % plotters

Question Number : 13 Question Id : 25498930892 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Y 3R Teleds & UFR B
Options :

1. % s

2. % IHY

3. % ficd

4. ¢ @ey

Question Number : 14 Question Id : 25498930924 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0

Which of the following network topologies has all the computers connected through a single cable?
Options :

1. * Mesh topology

2. ¥ Bus topology

3. % Ring topology

4. % Star topology

Question Number : 14 Question Id : 25498930924 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Frofafea 3 3 forg Aead el 8 Tt e U@ g e 9 I3 U B 87
Options :

1. % WY Aol

2.« S CIUTarsil

3. % f&r et

4. % R Il

Question Number : 15 Question Id : 25498931006 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following is a small electronic circuit printed on a chip that contains many of its own circuit elements (e.g. transistors, diodes, resistors, etc.)?
Options :

1. ¥ Vacuum tube

2. ¥ Integrated circuit

3. % Microprocessor

4. % Magnetic drum

Question Number : 15 Question Id : 25498931006 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

frafeiyd & @ ®F-91, te fau W fife foar T te Blel sadeiRe dihe g o 39 o Iidhe 3/dgd (G TifoneR, STirs, IRy, onfe) gid 82

A




Options :

1. % deIH o

2. ¥ 3RS Wide
3. % HISHIURRR
4. % TfewH g1

Question Number : 16 Question Id : 2549899534 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

By default, MS-Excel 2019 names a worksheet as .

Options :

1. ¥ Sheetl

2. * Sheet 1

3. % Sheet-1

4. % Sheet@]

Question Number : 16 Question Id : 2549899534 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

f&Whiee T F, MS-Excel 2019, TH THRIC Bl A AT g

Options :

1. ¥ Sheetl

2. % Sheet 1

3. % Sheet-1

4. % Sheet@]1

Question Number : 17 Question Id : 2549899586 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which computer program sequences print jobs by temporarily storing them in a buffer and sending each one to the printer when the printer is able to process
it?

Options :



1. * Pool
2. % Spooler
3. % Drivers

4. % Operating system

Question Number : 17 Question Id : 2549899586 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

fafaRed 3 § ®1H-91 te duger T, fiic Sig & TR & SRR &0 I TR a5 SIIhIHd Hdl § SR o fiex 33 TR & & & gid1 6,
9 U ! fliex deb Neidll &2

Options :

1. ¥ Ud (Pool)

2. % R (Spooler)

3. % W(Drivers)

4. % TR Reeq (Operating system)

Question Number : 18 Question Id : 25498910970 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which protocol is used for assigning IP Address in a network dynamically?

Options :

1. # Network server

2. % SMTP

3. ¥ DHCP

4. % POP3

Question Number : 18 Question Id : 25498910970 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

foreft Seads A A U (dynamically) IP TSH 3RIT2H $HRA & foT {9 Metdia &1 IUART fava ST 82

Options :

1. % Jcgd ga¥




2. % SMTP
3. ¥ DHCP
4. % POP3

Question Number : 19 Question Id : 25498911149 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is a keyboard short cut to select a column in an MS-Excel 2019 worksheet?

Options :

1. * Alt + Spacebar

2. % Ctrl + Spacebar

3. % Shift + Spacebar

4. % Caps Lock + Spacebar

Question Number : 19 Question Id : 25498911149 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

THTYH-TRIA 2019 (MS-Excel 2019) GhRiic #, fbel BiaH o Jaiae B & o Fafeiad # A fy $iais Qicahe o1 SUN foam ST 6?2

Options :

1. % Alt + IR

2. ¢ Ctrl + WHIR

3. % Shift + WIIR

4. % Caps Lock + WIAR

Question Number : 20 Question Id : 25498913513 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

With reference to reducing the number of bytes consumed by large files in computers, Codec stands for
Options :

1. ¥ compression/decompression
2. % encoder/decoder

3. # enhancer/de-enhancer



4. # sampler/de-sampler

Question Number : 20 Question Id : 25498913513 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

HECY T To! BIgdl gRI dHogH HI o a1l 13cd 1 U Bl HH I3 & daY H, B8 (Codec) BT AT gl
Options :

1. ¢ HHRF/SIHRIRHA (compression/decompression)
2. % T/ fehier (encoder/decoder)

3. % Q%W@)[—Q%W (enhancer/de-enhancer)

4. % JITR/S-JHIR (sampler/de-sampler)

Question Number : 21 Question Id : 25498913612 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is a type of media technology that delivers video and audio content to your Internet-connected device?
Options :

1. # Trimming

2. % Streaming

3. ¥ Watching

4. % Quantizing

Question Number : 21 Question Id : 25498913612 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

frafafad & § o4, Wifgar SHarsT &1 Td THR § S $ex-c 9 I fearsy R difsar $iR siffsat dde feaiar &l 82

Options :

1. % Eﬁ"T(Trimming)

2. ¢ @:’&I"T (Streaming)

3. % gifiT (Watching)

4. % PHFCRIGNT (Quantizing)




Question Number : 22 Question Id : 25498918570 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following types of installation is done when you don't want to upgrade from existing Windows?
Options :

1. ¥ Clean

2. % Upgrade

3. % Uninstall

4. ® Unclean

Question Number : 22 Question Id : 25498918570 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

SId 31T oGl fASIS ¥ SUIS 8T H=A1 9164 @, Al MufeiRad H A PIH-91 ST fba1 Sl g2

Options :

1. ¢ &I (Clean)

2. % W(Upgrade)

3. % 3[SIEIA (Uninstall)
4. % 3dAH (Unclean)

Question Number : 23 Question Id : 25498918580 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

What does IPv6 stand for?

Options :

1. ¥ Internet Protocol version 6

2. * Internet Protocol verification 6

3. # Internet Product version 6

4. * Internet Protocol validation 6

Question Number : 23 Question Id : 25498918580 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0

IPv6 &1 qUf &0 &1 82

Options :

1. ¥ Internet Protocol version 6 (éCQ:IC SICIEAN d\,rlr"l 6)

2. # Internet Protocol verification 6 (EE@—C' gicipid aRMh BRI 6)
3. % Internet Product version 6 (3EX-IC UISaE o 6)

4. % Internet Protocol validation 6 (3’6?318 elpid dfers M 6

Question Number : 24 Question Id : 25498922668 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If the MBR of your system is corrupted, which tool can recover it and boot Windows 10 normally?

Options :

1. ¥ Bootos.exe

2. % Bootmbr.exe

3. % Bootrec.exe

4. % Booting.exe

Question Number : 24 Question Id : 25498922668 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Qﬁ&W?WWMBRWEﬁW%,?ﬁW@Hﬁ@ﬁ?W@@ RepaR PR Toball § 3R fASIST 10 (Windows 10) BT JHHFY =7 J g€ PR
Tl 82
Options :

1. ¥ Bootos.exe
2. % Bootmbr.exe
3. ¥ Bootrec.exe

4. % Booting.exe

Question Number : 25 Question Id : 25498924031 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



How is the icon of a Desktop folder changed in Windows 10?
Options :

1. # Right click -> Properties-> General -> Folder option

2. % Right click -> Properties -> General -> Folder Pictures

3. ¢ Right click on folder -> Properties -> Customize -> Folder icons

4. % Right click -> Properties -> General -> Advanced

Question Number : 25 Question Id : 25498924031 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

fISIST 10 (Windows 10) H, SXhelT WIS BT TSH Y FGal SITdl 82
Options :

1. % Y13e fadd-> MuSF-> T Rd-> Hiee 3w

2. % J3e faam-> MIdN-> T RA-> hice: ey

3. ¢ Thitek R YEC fadd B > MUSIT-> HeATSol-> Hite MDY
4. % 13¢ [P -> MIET-> T RA-> TSRS

Question Number : 26 Question Id : 25498924322 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following keep(s) the track of files and directories in Operating System?

Options :

1. ¥ File system

2. % Kernel

3. ¥ Commands

4. % User interface

Question Number : 26 Question Id : 25498924322 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

fafafed & @ -4, TR Ren T wigdl 3R STRaeS &1 ¢h [adl 82

Options :




1. ¢ BIgd Rk
2. % Ppd
3. % HATS

4. % YoR 3B Y

Question Number : 27 Question Id : 25498924496 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

What is the file extension of Rich Text Format files?

Options :

1. % rt

atf

1tfs

» 1;3.&

2
3.
4 .rtes

Question Number : 27 Question Id : 25498924496 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

fa CRe WIHe (Rich Text Format) WIgdl &l HhIgd TR &1 8?
Options :

1. % ot

2.9 rtf

3. % rtfs

4. * rtes

Question Number : 28 Question Id : 25498925354 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

In sleep mode, the

Options :

1. *¥ current state of the computer is saved on a hard disk

2. #* current state of the computer is saved on a digital versatile disk



3. ¢ current state of the computer is saved on Random Access Memory

4. % current state of the computer is saved on a compact disk

Question Number : 28 Question Id : 25498925354 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

LSRRI (sleep mode) ff, Obli;l\di CARREIE @Iﬁﬁ\f@aﬁ\_ﬂ?ﬁ%‘?
Options :

1. % RSP W

2. % Sified aed & W

3. ¢ {SH TRY TR IR

4. % Hide f$ W

Question Number : 29 Question Id : 25498940415 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

To edit the content of a cell in MS-Excel 2019, press the key after selecting the cell.

Options :

1. # F1

2. ¥ F2

3. % F3

4. % F4



Question Number : 29 Question Id : 25498940415 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

MS-Excel 2019 H, Ud & B Bl UFSE B & (oY, I &l Jdlae H- & G ol qad |
Options :

1. % Fl

2. ¥ 2

3. % T3

4. % F4

Question Number : 30 Question Id : 25498940556 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

What is the purpose of test completion criteria in a test plan?

Options :

1. # To set the criteria used in generating the test inputs.

2. ¥ It is a checklist which need to be satisfied so that the software is considered ready to be released to the production environment.

3. ¥ To know when the test planning is complete.

4. # To ensure that the test case specification is complete.

Question Number : 30 Question Id : 25498940556 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

TREIOT IS (test plan) T TRI&0T R HRA P AMES BT T =T 82

Options :

1. % TR&01 3AYC I H H Tgad AFGS] Bl YT B & [l |

2. U Uh AHICRC ¢ Tord TRT 3T SMaID ¢ dlich WU ! WSaRM THaRRHE H Rl H & ol JaR A1 o 9o |
3. % g S & fort b uteror Ao e T 81 718 g |

4. % gg ﬁﬁ’f\% A & T T TRI&mr gaun fafcar (test case specification) YT HRIEI %I

Question Number : 31 Question Id : 2549896777 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



The protocol is used for uploading files on the server.
Options :

1. % World Wide Web (www)

2. % Hypertext Markup Language (HTML)

3. ¥ Dynamic Host Control Protocol (DHCP)

4. ¥ File Transfer Protocol (FTP)

Question Number : 31 Question Id : 2549896777 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

TR IR BIS AUAS B & T el d BT IUANT fobar ST 2 |

Options :

1. % ac_s‘asts’a‘d(www)

2. % BIIURCHRT HIH3MT AT (HTML)

3. % SOM® gRE dheld Uictedld (DHCP)
4. ¥ HI3d TR WICIdId (FTP)

Question Number : 32 Question Id : 2549899069 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

What will happen when the formula “=COUNTIF(A1:A7,"????s")” is executed in MS-Excel 2016?

Options :

1. " It will count the number of cells that have exactly 5 characters, and end with the letter "s" in cells A1 through A7.

2. % Tt will count the number of cells that have exactly 7 characters, and end with the letter "s" in cells A1 through A7.

3. % It will count the number of cells that have exactly 5 characters, and end with the letter "'s" in cell Al.

4. % 1t will count the number of cells that have exactly 5 characters, and end with the letter "s" in cell A7.

Question Number : 32 Question Id : 2549899069 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

& MS-Excel 2016 5 gF "=COUNTIF(A1:A7,"22?2s")" fAsaifed foran Sran ® < o g
Options :



1. T8 I Jal (cells) DI TS P UM BT FOFTH B1h 5 PYde &, 3R I A1 T A7 H 3H&R "s" P 1 JH glei g |
2. % U I Q! (cells) BT BT 1 TTUHT BT FOTTH Steh 7 PR &, MR Tdl Al T A7 H 31eR "s" & I U Bl g |
3. % U I QN (cells) P! TBT ! TUHT DB OFH 31 5 HYdex &, 3R A Al H 3f&R "s" P 1Y JATE gl g
4. % UG IT Al (cells) DT TJT D1 TUMT BT FOH Sleb 5 e 8, IR TA A7 | 3M&R "'s" & T1Y AT glat g |

Question Number : 33 Question Id : 2549899147 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A user has to enter to navigate any website.

Options :

1. ¥ PPT

2. ¥ URL

3. ¥ WWW

4. # HTML

Question Number : 33 Question Id : 2549899147 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Wﬁéﬂﬁﬂﬁ%ﬁ%fﬁqmﬁim(enter)mml
Options :

1. ¥ PPT

2. % URL

3. % WWW

4. # HTML

Question Number : 34 Question Id : 25498911071 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
State whether the given statements related to MS-Excel 2019 are true or false.

(1) The ribbon is located at the top of the screen and stretches across the window.
(i1) The Home tab displays a variety of tools and features used to format and move text.

Options :



1. # (i) False (ii) True
2. * (i) False (ii) False
3. ¢ (i) True (i) True

4. % (i) True (ii) False

Question Number : 34 Question Id : 25498911071 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

T3 fH MS-Excel 2019 J Hafdd faU 0 9 I & a1 39 |

(i) K& (ribbon), T & Y R Y gla1 8§ 3R R ST (window) H el Bla 3
(ii) Home ¢, TRE Bl BiHe 3R RIFART B & (o8 Ygad fhT o aral fafis TR & gt 3R B & velRid ear 3|

Options :

1. % (1) A (i) I
2. % (i) A (ii) AHI
3.9 (1) 9 (i) 9T

4. % ()9 (i) I

Question Number : 35 Question Id : 25498911899 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

In MS-Word 2019, which view displays the original document without tracked changes and comments showing? However, any tracked changes or
comments in the document that have not been accepted, rejected, or deleted remain in the document.

Options :

1. #* Final Showing Markup

2. * Final

3. % Original

4. % Original Showing Markup

Question Number : 35 Question Id : 25498911899 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



MS-Word 2019 H ®H-T1 & (view), ¢FS ol (tracked changes) 3R HHH &1 fG@TT fomT 7 Siagic & UeRid &xar 82 gdiie, Slagic H ®is
¢S doi I1 HH Y foTg WIPR, RdieR a1 fSdfie 78 forar a1 ], 3 STagdic A gl ed |

Options :

1. % Igd NI AT 3T (Final Showing Markup)

2. % WISd (Final)

3. ¢ 3NRFSH (Original)

4. % MRS TN ATh 3 (Original Showing Markup)

Question Number : 36 Question Id : 25498924650 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following formulas when executed will give an error in MS-Excel 2019?

Options :

L% = SUM(A9:ALS) * SUM(K9:K15)

, x =SUM(A9:ALS) * 10
3 % =SUM(A9:A15)—B4/10
4 » =SUM(LO:L12) * SUM(K9:K12)/(10-10)

Question Number : 36 Question Id : 25498924650 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

MS-Excel 2019 H, Fofafad & § oH-a1 g3 fFunfed 87 w 3fe m

Options :
| ® = SUM(A9:ALS) * SUM(K9:K15)



, %« =SUM(A9:AL5) * 10
3 % =SUM(A9:A15) —B4/10

4 =SUM(L9:1.12) * SUM(K9:K12)/(10-10)

Question Number : 37 Question Id : 25498924655 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

What is the keyboard shortcut for justified alignment in MS-Word 2019?

Options :

1. % Ctrl +R

2.% Crl +17

3.% Crl + T

4. % Ctrl +L

Question Number : 37 Question Id : 25498924655 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

MS-Word 2019 T, SIRCHISS AZTHC & forg frg S1aIs Qicawme &1 IUdnT fohar S g2
Options :

1. #* Ctrl+ R

2. % Ctrl+J

3. % Cul+ T

4. % Ctrl+ L

Question Number : 38 Question Id : 25498924665 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

What do you understand by the term 'tabs' in the context of MS-Word 2010?

Options :



1. % Tabs are not embedded in your document’s text
2. % Tabs are hidden formatting characters, similar to space characters
3. % Tabs are hidden formatting characters, but are not similar to space characters

4. % Tabs are viewable formatting characters

Question Number : 38 Question Id : 25498924665 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

MS-Word 2010 & e T 2 (tabs) Teq T 3T FIT THII &2

Options :

1. % <, 3 SiFgHc & e H TS S el sl g |

2. ¢ @ﬂm?(space characters)%W,%@@(hidden)ﬁ%mﬁﬁ%l
3. % 29 gU §UBIHIST HRae 81 &, TR WY HRde? & YA el ald ol

4. % 29, fow@TE 37 a1 (viewable) BIHTCT BGRB8

Question Number : 39 Question Id : 25498925223 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

FTP is used for

Options :

1. % only downloading files

2. # only uploading files

3. #¥ merging files

4. ¥ transferring files between hosts over internet

Question Number : 39 Question Id : 25498925223 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

FTP 1 JUdIT ERISISIG]

Options :

1. % Hdd BI3dl Bl SISTAIS B P [olg




2. % Had BTl DI UANS B & [old
3. % BI3ql &l 7o B & forg
4. JWW@E(@@%@EW@WW%W

Question Number : 40 Question Id : 25498925286 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

What do you understand by file naming convention?

Options :

1. ¥ A framework for naming your files.

2. % A framework which helps in transferring data from one file to another.

3. ¥ A framework which does not relate to other files.

4. % A framework which describes how files are unrelated to other files.

Question Number : 40 Question Id : 25498925286 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

BT3d ATHHRUN URUTCT (convention) T 3T T THII &2

Options :

1. ¢ 3O Bl BT ATHHRUN B & 1078 Th ThHdD

2. % U hHaD, Sl 31 ! T WIZd U gux H RN &3+ H Hag HRdl §
3. % U DpHae, Sl o isdl O Jefid 187 8

4. % U ThHdP, Sl gUIH BT g [P BIEd 3 Bl A Y A«idd T8l &

Question Number : 41 Question Id : 25498925329 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If the width of the page is less than the height of the page in an MS-Word document then which of the following statements would be FALSE?
Options :

1. ¥ The page orientation is Landscape.

2. % The page orientation is in Default.



3. % The page orientation is Portrait.

4. ® The page is vertically aligned.

Question Number : 41 Question Id : 25498925329 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

& MS-Word STagic &, IS &1 AISTs IS &1 $aTs I &4 ¢, al FafiRad § § SH-91 Sy TTeid g2

Options :

1. ¢ U SINECRE dewhu 5|
2. % U9 3RUCEH fEthiee A |
3. % U9 3fRUeTH Uide 3|

4. % U9, afdPpall TS B

Question Number : 42 Question Id : 25498938399 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

What is the process in which a preferred version of a page is selected over multiple other versions when searching for webpages?
Options :

1. ¥ URL modification

2. % URL support

3. ¥ URL balancing

4. % Canonicalization

Question Number : 42 Question Id : 25498938399 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

I8 HI-YT uferar g forad aausl &t WIS HRd 0T Th US & UUIET oI (preferred version) B g 30 goi-ll & qa-T & T STl 82
Options :

1. % URL HIfSfh &R (URL modification)

2. % URL UG (URL support)

3. % URL 9AfT (URL balancing)




4. ¥ HAMHAZARA (Canonicalization)

Question Number : 43 Question Id : 25498938402 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Replacing an IP address (http://208.77.188.166/) with a domain name (http://www.example.com/) is a process.
Options :

1. ¥ URL support

2. % DNS Resolution

3. # URL balancing

4. % URL modification

Question Number : 43 Question Id : 25498938402 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Udh 1P Qgﬂ (http://208.77.188.166/) P ST A (http://www.example.com/) I gGaHl, Th ufpar gl
Options :

1. % URL IUIE (URL support)

2. ¥ DNS YSIIeYRM (DN Resolution)
3. % URL QR (URL balancing)

4. % URL HITSTH &R (URL modification)

Question Number : 44 Question Id : 25498941583 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following text functions of MS-Excel 2019 is used to join two or more text strings into one string?

Options :

1. ¥ CONCATENATE

2. % JOIN

3. # MERGE

4. ¥ COMBINE



Question Number : 44 Question Id : 25498941583 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

MS-Excel 2019 & fFEfRed & 9 for Tave TR &1 ITANT &1 A1 &1 ¥ 31 coRe R &1 Tas R & SiteH & o fasan oirar g2

Options :

1. ¢ BFPBCIHT (CONCATENATE)
2. % A8 (JOIN)

3. % TSl (MERGE)

4. % HdIgT (COMBINE)

Question Number : 45 Question Id : 25498941588 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
is the logical function used in MS-Excel.
Options :
1. ¥ IF()
2. % VLOOKUP()
3. % SQRT()
4. ¥ DATEVALUE()

Question Number : 45 Question Id : 25498941588 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

, MS-Excel # W& foha1 M arel @ifoied tav g |
Options :
1. ¥ 1F()
2. % VLOOKUP()
3. % SQRT()
4. % DATEVALUE()

Question Number : 46 Question Id : 25498941602 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



In MS-Excel 2019, after pressing F4 key twice, the cell reference changes from Al to
Options :

1. # absolute reference ($AS$1)

2. ¥ absolute row reference (A$1)

3. % relative reference (Al)

4. % absolute column reference ($A1)

Question Number : 46 Question Id : 25498941602 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

MS-Excel 2019 H, F4 Wﬁ ®! & 9R GdH & 91, 4d e (cell reference) Al el o gd S ]

Options :

1. % fRuer dgu ($AS$1) [absolute reference($AS$1)]

2. ¢ f*R0g dfad day (A$1) [absolute row reference(A$1)]

3. % gruer g (A1) [relative reference(Al)]

4. % 0 Ty T ($A1) [absolute column reference($SA1)]

Question Number : 47 Question Id : 25498941605 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

In MS-Excel, a/an is an action or a set of actions that you record and can run as many times as you want.
Options :

1. * micro

2. % macro

3. % trigger

4. % entity

Question Number : 47 Question Id : 25498941605 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

MS-Excel H TS TR I7 TaRI &1 U JHE & o 310 Rapis Hd § 3R foid-! 9R =18 Ia-t IR 39 T (run) R AHd & |

Options :




1. % HIZHI (micro)
2.« Opl (macro)

3. % TR (trigger)
4. % U (entity)

Question Number : 48 Question Id : 25498941608 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Identify the sequence of steps used in MS-Excel 365 to enable the Developer tab.

Options :

1. # Insert -> Options -> Customize Ribbon

2. % File -> Options -> Customize Ribbon

3. # Design -> Options -> Customize Ribbon

4. % View -> Options -> Customize Ribbon

Question Number : 48 Question Id : 25498941608 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

SAAWR ¢d B THS (enable) R & AT MS-Excel 365 H SUTNT fHT S aTd TRUN & 3IHH (ew) &1 IgdH Hr|

Options :

1. % 3¢ > AR > HeHRS R (Insert > Options -> Customize Ribbon)

2. ¢ HId -> R -> HIHTSS K& (File -> Options -> Customize Ribbon)

3. % %GI'IT:-FT > IR > P ICHIQM e (Design -> Options -> Customize Ribbon)
4, ®# > 3R -> HXeHATSS RE (View -> Options -> Customize Ribbon)

Question Number : 49 Question Id : 25498941629 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The ASCII value of decimal 5 is

Options :

1. % 57



2.% 97
3.9 53
4. % 65

Question Number : 49 Question Id : 25498941629 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

S 5 BT ASCI HH gl
Options :

1. % 57

2. % 97

3.9 53

4. % 65

Question Number : 50 Question Id : 25498941633 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The hexadecimal equivalent of decimal 10 is

Options :

1.¥ A

2.% B

3. % C

4. % D

Question Number : 50 Question Id : 25498941633 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

TR BT (decimal number) 10 BT RERIEIBEN] HHJY (hexadecimal equivalent) % |
Options :

1.¥ A

2.% B

3.% C



4.% D

Question Number : 51 Question Id : 25498941649 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The octal equivalent of decimal number 15 is

Options :

1. % 12

2.9 17

3.% 15

4. % 14

Question Number : 51 Question Id : 25498941649 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

ST 3 (SRH) 15 BT 3PF AT (3faed Uhda<) gl
Options :

1% 12

2.9 17

3.% 15

4. % 14

Question Number : 52 Question Id : 25498941653 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which function of MS-Excel 2019 returns TRUE if any argument is TRUE?
Options :

1. % AND

2. % NOT

3.4 OR

4. = AT



Question Number : 52 Question Id : 25498941653 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Ms-Excel 2019 &1 B 1H-91 thaxH, fdt off 3mific & TRUE 8 WR TRUE dierdr 82

Options :

1. * AND

2. % NOT

3.¥ OR

4. % AT

READING COMPREHENSION

Section Id : 2549898480
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 1
Number of Questions to be attempted : 1
Section Marks : 5
Display Number Panel : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549898521
Question Shuffling Allowed : No

Question Id : 25498921379 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No

Question Pattern Type : NonMatrix
Question Numbers : (53 to 57)

Read the given passage and answer the questions.

Marco Polo lived in Venice, Italy. He was just a boy of seventeen and not very strong when he set out on his travels. He left for China in 1271 along with his
father and uncle. They had to go over the mountains, across terrible deserts, through hot burning lands and places where it was freezing cold. At times,
Marco was ill on account of the hard and dangerous journey but he got better and kept moving on bravely. It took them three years to reach China where



Kublai Khan, the king of China welcomed them.

Marco Polo grew up at the Chinese court and became a great favourite of the king. He learnt to speak several languages. He was so clever that the king sent
him to India and other lands as his ambassador. Each time when he returned he had lots of things to tell the king — about the places he had visited, how the
people lived there, what their trades were and what messages they sent for the king. Kublai Khan was so happy with the information that he heaped riches
on Marco Polo.

The Polos were happy in China but they longed to return to Venice. It was 1295 when the three travellers returned to Venice. Their clothes were tattered and
they spoke a strange language. Nobody recognised them for they had been away so long. Even their family had given them up for dead. Marco was now a
middle-aged man. He told the people wonderful things about China. The Chinese, he said, did not write books with their hands. They printed many books at
a time. They used clocks powered by water to tell the time. They made colourful fireworks from a strange thing called gunpowder.

At that time in Italy, no one had heard about gunpowder, printing or clocks. They thought the three men were mad. In order to prove who they were, Marco
Polo cut open the patches in his clothes and to everyone’s surprise, out fell diamonds, rubies, pearls and sapphires. People were amazed to see such
treasures. Now they believed that the strangers were really the Polos back from a marvellous journey.

Sub questions

Question Number : 53 Question Id : 25498921380 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

What was the destination of the Polos?

Options :

1. # Venice

2. % India

3. % China

4. % Ttaly

Question Number : 54 Question Id : 25498921381 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Kublai Khan gave precious gifts to Marco Polo because:

Options :

1. * he could speak several languages

2. * he visited far-away lands

3. * he worked as an ambassador



4. ¥ he gave valuable information to the king

Question Number : 55 Question Id : 25498921382 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The Polos had been away from home for:

Options :

1. ¥ 22 years

2. % 23 years

3. % 24 years

4. % 25 years

Question Number : 56 Question Id : 25498921383 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following statements is FALSE as per the given passage?

Options :

1. # The Chinese printed their books.

2. % The Chinese used electric clocks.

3. # The Chinese invented gunpowder.

4. % The Chinese made colourful fireworks.

Question Number : 57 Question Id : 25498921384 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

What ultimately proved the identity of the Polos?

Options :

1. # They spoke in Chinese.

2. % They possessed precious gems.

3. # They wore tattered clothes.
4. % They told strange tales.



Question Id : 25498921379 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No
Question Pattern Type : NonMatrix

Question Numbers : (53 to 57)

faQ T TR Y U 3R ITF MYR W U & IR S|

q1eh| Orell af, geell § Y@ UT| 98 a9 Rith 938 ay &1 U dS o] UT, Sid I8 U1 UBM URH B 3R dd I8 dgd Helgd ol U1l I8 1271 H S0
fOrelT SfR =T & WY i & oY a1 el I UsTS| &b SHUR, A AT &b UR, T8 Sterdl BT SR I R A Bl ST UST 58] oA g
arelt 38 M| H3 IR B AR TaAS I & BRI T SR TS I, Afh1 98 I5aR 51 Sl AR TeTg I 3 Jgal Igal| I Ugar B 3=
I ITa T, T8 A1 & o7 fadls W A S-6] WHTd [T |

HTeh! UTal =T IS SRR H TST g1 3R Ml b1 GHEIET § 11 JHA s HINTE SlTer1 Sl | I8 a1 IgR T fob el A I8 HRA SR 3=y o2

310 JreIgd & U H Ul | YA IR §d 98 I o) 7 D] §d & 1Y 3D YTy 31 R & IR H dgd W <ol glait oY forep1 98 GRT bl T -

?fﬂﬁ;ﬁqyﬁ%ﬁﬁ,ﬁwwﬁﬁa@ﬁw%%uwmﬂ@n FaAs T 59 THBRI Y a1 G AT o I AT Urell TR o P
T fe

Ore 919 ® G ¥ Afd 3 3 wes & e I A1 U8 1295 T 519 i) A A dic | 396 HUS e §U A 3R 3 3ol U Sidd U1 farsit 3
35 -To! UgaHT i d 3 99T 9 g V| Tg1 d o 31 URAR = 375 AT GHT THSHR DTS a1 UT| AIH| 3d Th YT Y BT 31eHT UTI 35+
AT 1 A & R H 3GYd 91d JdTs | 39 T, Ti-T 30 g1l ¥ fhard 181 ferad | 3=+ T 9Ha | s J&idh S1U1 | d 7T §dM & o Uit
I aTelt afSal T ITANT B U1 IBiH IReG ATHS Tdh 3folld el A FN Mfaerarslt §975 |

39 Y st H, T A USSR (aRee), flifeT ar ufeat & aR & 78 G o1 | I6iA G fb A e ana ¥ g Rig e s e fF a s 9,
AT | Uidl 3 o0 HUe! H UF Wid [T 3R &R fardl! &1 SHTeiaford dd gU, BX, =al, HidT 3R Siamfr -id fiRT AU | T8 @eH & q@as ant
Mydaferd gUI 3id Igi- fayr fora for sroielt arda U Srqyd am=T § 9o aie, Uiel anT 3|

Sub questions

Question Number : 53 Question Id : 25498921380 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Uicl! T Tided ot T2
Options :
1. % df9
2. % YRd
3. ¢
4. % It



Question Number : 54 Question Id : 25498921381 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Facs T - JATD1 UIdl! &I 9gHd IUSR faT aifh:

Options :

1. % 98 P U SId Fahva |

2. % I G oI BT GRT fowaT|

3. % I U oigd b &0 & B (|
4. ¢ I ST B! GegdH STHBRI &l |

Question Number : 55 Question Id : 25498921382 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Uiell TR ¥ foba Iy gr g1 U

Options :

1. % 209y
2. % 239y
3.4 249y

4. % 25TY

Question Number : 56 Question Id : 25498921383 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

U TTQ TR & TR ST ¥ HIH-91 B Ted 82
Options :

1. % it 4 Ut fardrd gfed &1 |

2.« AT A fooTel &t gfgal o1 Iuan faan|

3. % T A TUKEER @Ree) B TfashR foa|
4. % AT A T srfaerarsh ffifa @i

Question Number : 57 Question Id : 25498921384 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0
SRERBR Ul ARl Bt Uga fhed g ga7
Options :

1. % IgI AT YIS et |
2. ¢ 3% U HIH A U
3. % e gU BT U |
4. % 35~ fafea weral gE|

QUANTITATIVE APTITUDE
Section Id : 2549898481
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6
Number of Questions to be attempted : 6
Section Marks : 6
Display Number Panel : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549898522
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 25498928823 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

What approximate value should come in place of the question mark (?) in the following equation?

(V339 x 25) = 30 =7

Options :



1. % 12
2.9 15
3.% 24
4. % 21

Question Number : 58 Question Id : 25498928823 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

fafeRad BT (Equation) T U8 1§ (?) o RAT OR o7 ST T4 311 91 T?

(V339 x 25) = 30 =7

Options :
1. % 12
2.9 15
3.% 24
4, % 21

Question Number : 59 Question Id : 25498928974 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The average speed of a truck is gt’l the average speed of a car. The car covers 520 km in 8 hours. How much
distance (in km) will the truck cover in 9 hours?

Options :

1. * 459

2. % 486

3.9 468

4. % 450

Question Number : 59 Question Id : 25498928974 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0

T 7o &1 HEa Aty v F A e afy #r ¥ FR 8 6 F 520 freeer #r gff a7 weh ¥
g 9 el H fraar g (BreedeT &) o &

Options :

| % 459

o % 486
s v 468

4 % 450

Question Number : 60 Question Id : 25498929078 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
What will come in place of the question mark (?) in the following number series?

155151144 132 113 ?
Options :

1. * 89

2.% 71

3.9 85

4. % 92

Question Number : 60 Question Id : 25498929078 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



freafofaa oo yuer # geafes (7) & T W F97 HI0en?

155 151 144 132 113 ?
Options :

| = 89
% 71
3. v 85

4. % 92

Question Number : 61 Question Id : 25498929133 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The number of teachers in universities A, B, C, D, E and F are 704, 1088, 1216, 384, 1856 and 1152, respectively. What is the average number of teachers in
University A, University C, University D and University F together?

Options :
1. % 854
2. % 3546
3. % 3456
4. ¥ 864

Question Number : 61 Question Id : 25498929133 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



feafaemmew A, B, C, D, E 3R F & ftetesr &r gwar saer: 704, 1088, 1216, 384, 1856 3R 1152
g1 Trafaeamem A, Reafaemem C, Reafiegmew D 3k Reafacmew F & Rewwt & iag g &=
g7

Options :

1. % 854

2. % 3546

3. ¥ 3456

4. v 864

Question Number : 62 Question Id : 25498929554 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Ifx+y+z=1landxy+yz+xz= gwhere x, v and z are positive real numbers, then the value of f + E -+ f is:
Options :

3
1. # 2

Question Number : 62 Question Id : 25498929554 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

T x+ y+ z= 1 3ﬁ?)g/+yz+xz=% g, T8 X, y 3R z 9=cAS aEdfas WEAC g, ar S+2+42

ehl Hlel &l gla r?
Options :




[ %

L | b

Question Number : 63 Question Id : 25498929634 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

In x litres of solution of alcohol and water, the ratio of alcohol to water is 5 : 3. When 8 litres of the solution is taken out and replaced with water, the ratio of
alcohol and water is 1 : 1. The value of x is:

Options :
1. % 32
2. % 36
3.9 40
4. % 60



Question Number : 63 Question Id : 25498929634 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

3THIEA 3R O P x TIex [Aaa B SHehIgd MR ofd BT AJATd 5 : 3 8| d SUH I 8 Tiex [aauH &I 5 ¥ d&d a1 offd &, dl 3ehigd 3R ofd
T U 1 : 1 81 STAT 8 | x BT HH 1 82

Options :

1. % 32

2. % 36

3.9 40

4. % 60
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Section Id : 2549898482
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6
Number of Questions to be attempted : 6
Section Marks : 6
Display Number Panel : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549898523
Question Shuffling Allowed : Yes

Question Number : 64 Question Id : 25498910160 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Happiness' is related to 'Sorrow' in the same way as 'Comfort' is related to ' "

Options :

1. ¥ Hardship



2. % Rest
3. ® Poverty
4. ¥ Difficulty

Question Number : 64 Question Id : 25498910160 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

AT H G J TR AU R, SN GEY IR BT I
Options :

1.V Hy

2. % faym

3. % fAdan

4. % P

Question Number : 65 Question Id : 25498912946 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Each of the given letters has been assigned a unique number. Select the combination of numbers such that the
corresponding letters when arranged accordingly will form a meaningful word.

L|AJ|JE|M|V |R
112 1]3]4]|5]|6

Options :

1. % 1,2,6,4,3,5
2.94,26,5,3,1
3.%53,6,4,2,1
4. % 6,3,1,4,2,5

Question Number : 65 Question Id : 25498912946 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



few 917 U= 37eR 1 U Ay T &) 92§ O & 9IS & 984 3 WER i & 9T 3erl
I AU FART Hie W U 70T oreg &= |

LIAEMVI|R
1 2 (3|4 |56

Options :

1. % 1,2,6,4,3,5
2.94,2,6,5,3, 1
3.%5,3,6,4,2,1
4.% 6,3,1,4,2,5

Question Number : 66 Question Id : 25498919014 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Select the word from the options that is similar to the given set of words in a certain way and hence belongs to the same group.

Basket : Pail : Pan
Options :

1. * Spoon

2. ¥ Bowl

3. % Fork

4. % Knife

Question Number : 66 Question Id : 25498919014 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

faemedl o ¥ 98 Weg AT ST it Ay o€ | AU U wrecl & THE & IAM ¢ SR 3oy I4T wig ¥ Yl B
At St T

Options :

1. % JHd

2. Bkt



3. % Picl
4. % 9%

Question Number : 67 Question Id : 25498919636 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Select the most appropriate description about the given set of words.

Colorado : Seine : Volga
Options :

1. * Ports

2. ¥ Rivers

3. * Lakes

4. * Harbours

Question Number : 67 Question Id : 25498919636 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Ysal & fGU U g & IR & Jad Iugad (9avur &1 9o He |
HIARTS! : I : e

Options :

1. % S8

2.« 9l

3. % i

4. % GIeR

Question Number : 68 Question Id : 25498919769 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Select the option that is true regarding the following two statements labelled Assertion (A) and Reason (R).

Assertion (A): Alcohol rather than mercury is used in a thermometer to measure a temperature of -60°C.
Reason (R): Alcohol has a lower freezing point than mercury.



Options :

1. % Both A and R are true and R is the correct explanation of A.

2. # Both A and R are true but R is not the correct explanation of A.
3. % Ais true but R is false.

4. % Ais false but R is true.

Question Number : 68 Question Id : 25498919769 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

39 far ey &1 I ST S SIfHBUT (A) 3R BRI (R) THS Fgferiad &t syl & e § 9 g |

FHBHUT (A): -60°C B ATTHI DI AT & oY UR P I W Vecblgldl T STANT YHTHIeR H fobar Srar g |
PR (R): UR B ga-1 H UebIgid o1 fgHidh foig #H gl |
Options :

1. ¥ ASIRREHI I § 3R R, A DT Tl WHIHU g

2. % ASRRIA TG € WIR, A DT Tg! WHIHRU T8 & |
3. % AT § IR 3T B

4. % A 3T E WIRIA R

Question Number : 69 Question Id : 25498927401 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Select the option that satisfies the same conditions of the placement of the dots as shown n the given figure,

Options :



1.¢

Question Number : 69 Question Id : 25498927401 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



39 [qeed &1 789 B3 ol - UeiRid i & oaR fagsif & Rim-FuRo &t 90 26l & guf s |

&

Options :




N\

4, %
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Question Shuffling Allowed : Yes

Question Number : 70 Question Id : 2549895308 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Certain regions of Tamil Nadu, Andhra Pradesh and Himachal Pradesh have rainy seasons from:
Options :

1. # September to January

2. % October to December

3. % December to March

4. % February to May



Question Number : 70 Question Id : 2549895308 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

RS, 3y TSR 3R feHTaet Uew & oo FfEa U & anf Bq {6 7 & SR 8l 82

Options :

1. % RydeR 9 o™
2. ¢ IR ¥ fddsR
3. % RdR YA

4. % BRI A S

Question Number : 71 Question Id : 25498912564 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following series is true about energy flow in an ecosystem?

Options :

1. #¥ Producers — Decomposers — Consumers

2. ¥ Decomposers — Consumers — Producers

3. % Producers — Consumers — Decomposers

4. % Consumers — Producers — Decomposers

Question Number : 71 Question Id : 25498912564 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

uIRTRUfe! o3 & SHuil & YaTe & ey & Fufeiad & 9 &H 91 0 981 8

Options :

1. % IAGH — 3HTICH — ITH
2. % 3UHCH — IUYIFI — IAGH
3. ¢ IdIEDH — IUHIHI — TICH
4, % IUHIT — IdATGH — HTUCH

Question Number : 72 Question Id : 25498912642 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0

When one animal is used to suppress another, it is called . For example, if snakes are encouraged in an area, the rodent population will be controlled.

Options :

1. # technical control of pests
2. % pest control

3. * botanical control of pests

4. ¥ biological control of pests

Question Number : 72 Question Id : 25498912642 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

TP SiId R 3= Sitdl Bl 7Y HRAT HEATdT ¢ | IETERUT & e, afe forht wITH IR Tidl ot TRedm dgT &t S, <Y 981 TR <@ & e
At g1 St

Options :

1. ® PIcl B qB-IPp] I

2. % e fAgau

3. % Pic| Bl gD U0

4. ¢ il 1S gz

Question Number : 73 Question Id : 25498922860 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Aristotle lantern is:

Options :

1. % a fresh water Echinodermata

2. ¥ atoothed chewing apparatus found in sea urchin

3. % a circulatory system found in starfish

4. % g lantern like structure found in brittle star

Question Number : 73 Question Id : 25498922860 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



Qi?éﬁﬂ dled (Aristotle lantern) T %?

Options :

1. ¥ U% WS od HI Ub-reHel

2. UG STANTE! (urchin) H OT% S @t fafRry darafa
3. % qRIASA | U1 S arell YREERT o

4. % TR dRI (brittle star)ﬁqﬁﬁlﬁmaﬁﬁm

Question Number : 74 Question Id : 25498932472 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following may be regarded as the first labour association in India?

Options :

1. % The Bombay Mill Hand’s Association

2. ¥ The Bombay Worker’s Association

3. # The Indian Worker’s Association

4. % The Printer’s Union, Calcutta

Question Number : 74 Question Id : 25498932472 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

fofalRed & T f5d yRd &1 ygen 4fie J9 HHT1 SITdT 82
Options :

1. ¢ ¢ did e g5 THIRuRH

2. % T EIE ghY THIRITTH

3. % 2 33y ahd THIfRueH

4. % g flcd gfa=, daemar

Question Number : 75 Question Id : 25498932592 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The Right to equality is given under Article of the Constitution of India.

Options :




1. ¥ 14
2.% 15
3. % 16
4. % 17

Question Number : 75 Question Id : 25498932592 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

HRTT HfFU™ o FHA BT PR rwq & 3fcrid fear mar j
Options :
1.9 14
2. % 15
3. % 16
4. % 17
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Section Id : 2549898484
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Section type : Typing Test
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Sub-Section Number : 1
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Question Number : 76 Question Id : 25498946188 Question Type : TYPING TEST Display Question Number : Yes Calculator : None

Summer camps are supervised camps conducted to entertain as well as equip students with various life skills such as teamwork, socializing,
decision making, independent and responsible living and more. It aids the overall development of a child and children have fun during this process
as they get to explore new arenas.
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Edit Attended Group? : No
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Group Marks : 0
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Section Id : 2549898485

Section Number : 1

Section type : Typing Test

Mandatory or Optional : Mandatory

Number of Questions : 1

Number of Questions to be attempted : 1

Section Marks : 0

Display Number Panel : Yes

Maximum Instruction Time : 0

Sub-Section Number : 1

Sub-Section Id : 2549898526

Question Shuffling Allowed : No

Is Section Default? : Yes

Question Number : 77 Question Id : 25498942567 Question Type : TYPING TEST Display Question Number : Yes Calculator : None

Corporate dressing refers to the art of dressing formally and correctly. Corporate dressing helps an individual to dress according to his work
profile and organization culture. If formal dressing is done correctly it goes a long way in shaping a personality of a person. People take you
seriously if you are dressed sensibly. Remember no one likes to speak to an individual who does not know how to carry themselves. Going to work
in formals helps you create an image of yours. Dressing correctly helps you stand apart from the rest and be a role model for others. Dressing
formally not only reflects your image but also the organization you represent. You need to follow a proper dress code at the workplace. An
individual just cannot afford to be casually dressed for important business meetings or presentations. Remember you are not only presenting
yourself but your organization. An individual who looks presentable is liked and appreciated by all. Someone who is formally and sensibly dressed
does not have to try too hard to impress a client. A marketing professional had to deliver a presentation about a new offering of his organistion.
This presentation was to happen at a clients office. He never really bothered about his dressing. He wore a pair of jeans teamed with a casual shirt
along with chunky bracelets and earrings. He even forgot to polish his shoes. As a result he As a result he was denied entry to the office. The lady
sitting at the reception refused to let him go inside the board room and meet the senior officials. This was not the fault of receptionist. This is really



not how one should be dressed for business meetings. No one will tell you what you have to wear to work daily. Do not step out of home unless you
see yourself in the mirror. Corporate dressing helps you develop a magnetic personality which attracts other individuals. You need to have that
charisma and dressing formally helps you in the same. Corporate dressing helps you inculcate a good and healthy culture at the workplace.
Individuals tend to lose interest in their work if they are not formally dressed. You really do not feel like working if you are dressed casually on a
Monday. Torn jeans and multiple chains are a strict no no in corporate settings as they spoil the decorum of the organization. Female employees
should avoid wearing chandelier earrings and stacks of bangles. There is absolutely no need of flaunting your gold jewellery at workplace.
Remember price has nothing to do with corporate dressing. You really do not need to burn a hole in your pocket to buy designer business suits.
Dress sensibly. Corporate dressing helps you flaunt your simple and clean yet elegant look. Corporate dressing helps you create that first
impression. Remember first impressions are important and they help you throughout your life. If you fail to impress someone in the first meeting
then you will never get a second chance to impress them. Formal dressing makes you feel confident at work. You get that energy and confidence.
The moment you wear your crisp white shirt along with a black trouser you have a different aura around you. Dress code makes an individual
disciplined and inculcates a sense of team spirit.
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